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#

# define theta function

#

u:=array(1l..14):

#ck:=sqrt (GK/EIWW* (AIrr-AK) /AIrr) :

#r:=(AIrr-AK) /AlIrr/k:

shkx:=sinh (ck*x) :

shka:=sinh(ck*a) :

chkx:=cosh (ck*x) :

chka:=cosh(ck*a) :

D1:=2* (chka-1) *r-a*shka:

#
gl:=((r*chka-a*shka-r) *chkx+ (a*chka-r*shka) *shkx+ (chka-1) *r) /D1:
g2:=( (r-r*chka) *chkx+ (r*shka-a) *shkx+ (chka-1) *r) /D1:
g3:=(-shka*chkx+ (chka-1) *shkx+shka) /D1:

g4 :=(shka*chkx+ (1-chka) *shkx-shka) /D1:

#

tmp:=r* (r*chka-a*shka-r) :

hl:=(tmp*shkx+r* (a*chka-r*shka) *chkx+ (chka-1) *r*x+ (r*2*shka-r*a¥*
chka) ) /D1:

tmpl :=r* (r-r*chka) :
h2:=(tmpl*shkx+r* (r*shka-a) *chkx+ (chka-1) *r*x+ (r*a-r*r*shka)) /D1:
h3:=(-r*shka*shkx+r* (chka-1) *chkx+x*shka+ (r*chka-r-a*shka)) /D1:
h4:=(r*shka*shkx+r* (1-chka) *chkx-x*shka+r* (chka-1)) /D1:

#

q:=gl*u[7]+g2*u[l4]+g3*u[4]+gd*u[ll]:
gx:=hl*u[7]+h2*u[l4]+h3*u[4]+h4*u[1ll]:

gpl:=diff (q,x):
gp2:=diff (gpl,x):
gxpl:=diff (gx,x):
gxp2:=diff (gxpl, x):

#simplify (gxp2-gqpl) ;

#simplify (gqxpl-q) ;

glp:=diff (gl,x):

hlp:=diff (hl,x):

SKO:=array(1l..3):

SKO[1] :=EIWW*int (glp”2,x=0..a);
SKO[2] :=GIRR*int (hlp*2,x=0..a);
SKO[3] :=(GK-GIRR) * (2*int (gl*hlp,x=0..a)-int (gl*2,x=0..a)) ;
SKO[1l] :=simplify (SKO[1]) ;

SKO[2] :=simplify (SKO0[2]) ;

SKO[3] :=simplify (SKO[3]) ;
SKA:=array(1l..3):

SKA[1l] :=convert (SKO[1],6exp) ;

SKA[2] :=convert (SKO[2] ,exp) ;

SKA[3] :=convert (SKO[3] ,exp) ;

SKA[1l] :=simplify (SKA[1l]) ;

SKA[2] :=simplify (SKA[2]) ;

SKA[3] :=simplify (SKA[3]) ;
S77:=simplify (SKA[1]+SKA[2]+SKA[3]);

with (CodeGeneration) :
C(SKA,output="877") :
#C (S77 ,output="S77A") :



> r:=10.054740887136681:

> a:=0.2:

> EIWW:=58800.:

> GK:=581.53846153846166:

> GIRR:=4422115.3846153859:

> D1:=-6.542311650125851E-7:

> ck:=0.099442492290362783:

> SKO[1];

> SKO[2];

> SKO[3];

> SKO_SUM:=SKO[1]+SKO[2]+SKO[3];
> SKA[1l];

> SKA[2];

> SKA[3];

> SKA SUM:=SKA[1]+SKA[2]+SKA[3];
> S77;
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